UIL| 2 HISS=(59A)

| &3 | DOtY} L]

OIGHALY | BIRLICE

oxlmp2s
Sy

|t

OAL
TTo

W PSSR A0, 7B 30t

W ORY 2} = 37 HES A2 FI D KIAPH

WO

QIGFA17| HEELICE,

Hes

Bt

Sl =2} 0lof| o

=
=

t

A

g
<

e
S+ oo

EH

O, Ao} 3 S| 2

| OBHE 57| PIet A2 HAf

el

= bR

IT.
ey

ZE)

()20 el

B SUSTHUIIHLEHME

1010-2487-5377

1010-2150-2780

Aek= 10%

1,040,000

X F27t 2716E2L] MFS| ZHISHM| HFELICE

10,400,000

SLICk

kA

LS

X

FX| OfL|et =2 QIYE

P42A17| Hi2HH 87| Al

t= golsteL =33t

z

, EME|

RfLIEt
LIt
EINS

)
(

O
EA

So151A]7|
IpHRIN) m2t
oz

EEns
=
s 571 gt 20

27X
W 10,400,000(

o)

WL 2 2 QOpfR HIE|
2% BAjH|=
WO 0[D[X) 3! XUIZ2 Axte) Ofg

W SOnfA B L TL

SIQIGHA7 | HIFLICE.

T/ 4E

o]l
=]

SHEEL

Ol
=]

SHE

EYAE =0

t

At
O

Ei|

JAS 712 A

==

)

=

SR
CEA

)

TR
=k

S|

=43
(FExE)




x|

| 43 | 2OFAT R
SM HFB|AE(59A)

W S A|ARO0)H

W A4 SHHIE} ORx)

K74 olER)

g

te

o|

M2t

©® CHAZ £0

@ HA OlEY

® Yo _ZA=FH (&atold =0 H2))

i+

S
SHO
org

I5:

=
=
K
=

A
51 2
S

EA3 22|
SpECh

27| (&2

3
=

ADlE

&k

Al

[0S

1620000 (I

O

270000 | OJ | O]

2520000 O

ol | 1420000 OJ H O

W UEQIIH




UIL| 2| HISS=(59B)

| &3 | DOtY} L]

OIGHALY | BIRLICE

oxlmp2s
Sy

|t

OAL
TTo

W PSSR A0, 7B 30t

W ORY 2} = 37 HES A2 FI D KIAPH

WO

QIGFA17| HEELICE,

Hes

Bt

Sl =2} 0lof| o

=
=

t

A

g
<

e
S+ oo

EH

O, Ao} 3 S| 2

| OBHE 57| PIet A2 HAf

el

= bR

IT.
ey

ZE)

EIRSUSTETPHLTH AR
() =0Lg !

1010-2487-5377

1010-2150-2780

Aek= 10%

1,040,000

X F27t 2716E2L] MFS| ZHISHM| HFELICE

10,400,000

SLICk

kA

LS

32 aFE

Q7| HiZHH Z7] Al

)k
Ls

EEoH

Mezss AofsteL]

H -

)L,

7| et A2 AK|(H|ZEAL

0= Sl HRRILICE
=8

000(F7 F7FXIA|

YRRy
400
o1

Al
= W 10
}o

(SIPNPS|

0]

o 5O
o RO EE
oL I_|O

it

2N
o
I 59 BEFI WL 2% B

m Ol 0[0[X| 2 2
SOISHA|7 | BRIt

| et

o]l
=]

SHEEL

Ol
=]

SHE

EYAE =0

HETE
CHERE)

)

TR
=k

S|

=43
(FExE)




| §42= | ojUT}
SMN32|AE(59B)

W HEY AA-00)A

2o} g}

ol

ER|CH

—10H
(=l

2y

3,500,000

4,300,000

atf

6,000,000

700,000

3t

5,500,000

6,500,000

W 7MY ) %] e

W 7L 24018

D 71184 ) 9%] OY(2)

OEd e

S 2X|

el

S 02X

7|2 | ey

—"1

=

—10H
(=1

1770,000

3RS MESE

2

3

OjEx]

[
R

Vi 327 +HEA]

1620,000

W 72 S2H7 4 ofEE)

Al HXIET

© HYOEY

=

e

A2 EFI(6007600)

8,000,000

M2 EfR(HE)

4,500,000

W E3AF 53

)

@ AAH Hat

=9

=

Z10H
[=]

7|

=

—

e

=

=i

r.

MRl
At

3,020,000

820,000

324 ALK

2220000

5920,000

@ AER

=4

1420000

SKOHE(=E)

270,000

SKIf)

ojEx|

1620,000




L3IL| 2 HISS=(78)

| 2 | 2O} mEgE]

OIGHALY | BIRLICE

OIXXIOXIZTIZ B
[RUEONLRESToNE=§o

OAL
TTo

W ORY 2} = 37 HES A2 FI D KIAPH

W PSSR A0, 7B 30t
WO

QIGFA17| HEELICE,

Hes

Bt

Sl =2} 0lof| o

=
=

t

A

g
<

e
S+ oo

EH

| OBHE 57| PIet A2 HAf

el

= bR

IT.
ey

ZE)

()20 el

B SUSTHUIIHLEHME

1010-2487-5377

1010-2150-2780

O, Ao} 3 S| 2

Aek= 10%

1,150,000

X F27t 2716E2L] MFS| ZHISHM| HFELICE

11,500,000

SLICk

kA

LS

G701 AIEE AI%ES HFOHK oL CHE2 QIEElX|

2L 2S6HX] 4217 Hi2HH

Gl

, SUMEEE

H|IZ=AF

(

HRILICE,

=%

SPALZ| BIELICL.

[EEnE ol
i =
fo] Of6iE E71 9t 2o A

2 BIEA| QFK
{H = W 11,500,000(527 17 FX
22 MKx

/5 221 QO
3
2

3
=4
o

f

3L 2 3
Yzolge

o
=]
==

| ElE
W 7/8mE
WO O[fx|

o]l
=]

SHEEL

Ol
=]

SHE

EYAE =0

t

At
O

Ei|

JAS 712 A

==

)

=

SR
CEA

)

TR
=k

=

S|

JOISHA|7| H

=l
=l

=43
(7R

)

i
=)




SRR

| §15% | R0} A7} [T
SM {32 AE(78)

BN Al A0

W & SSH(HIE ORZR)

+

f

11|
(=)

MEFRIEH &f

@ AHHOIEE

W 7 S2H71H ofER)

A&

+ E)\Eooi

T1Eof

A 2o
pAPNPS|

o= :EID

4

3]

A

—10H
[= |

t87| (E822)

3
=

ADE

i

l

[OFs

=2

ot

Sl=

620,000 [J

1

A7 AP

,

O

X

000| (I | O

]

270

420,000 [

1

W UEQIHH




LIL| A KIS S=(84A)

| &3 | DOtY} L]

OIGHALY | BIRLICE

oxlmp2s
Sy

|t

OAL
TTo

W PSSR A0, 7B 30t

W ORY 2} = 37 HES A2 FI D KIAPH

WO

QIGFA17| HEELICE,

Hes

Bt

Sl =2} 0lof| o

=
=

t

A

g
<

e
S+ oo

EH

O, Ao} 3 S| 2

| OBHE 57| PIet A2 HAf

el

= bR

IT.
ey

X F27t 2716E2L] MFS| ZHISHM| HFELICE

ZE)

()20 el

B SUSTHUIIHLEHME

1010-2487-5377

1010-2150-2780

Aek= 10%

1,200,000

12,000,000

SLICk

kA

PEEIX] 2

042A|7| Hi2HH 871 Al

L] 251X

.
o

, e dEAIzRE 8ol

FRILIEL

A7

hrul = 5 |
IRy nE 2ol

¥ 12,000,000(

FEA| Q1=K

[

%2 QepfR Y
S BAHIE

3
W 84riA EfR) L]

FXF

| Els|

s &7 9

L
O]

WO} O|0IX] B! FLLHE2 LKt Of

SIQIGHA7 | HIFLICE.

o]l
=]

SHEEL

Ol
=]

SHE

Tht A

By

EYAE =0

t

At
O

Ei|

JAS 712 A

==

)

=

SR
CEA

)

TR
=k

S|

=43
(FExE)




| 4% | Dot} Lo

SMN32|AE(84A) 2o} g}

d

|
ot
o]

I
0:
ok

Y ESE G
MX|Ch Sof
2 3,600,000 4,500,000

6,600,000 7.900,000
6,100,000 7:300,000

rx
Y

)
~
It

N
o

==

£
pallpal
x| x| T

W 7HAE A HE(RY) B 37t 24org
O 7 A 24| HR(FS) @ 37t 2401
e = e I o2 712 | HE =4 =4

|
re

e
?,)l
Mo

|

1770,000 |' OJATK| 1620000
[ L
423 VHA 371 4841

* EASEIS MEK| 127}

s

W 72 S2H7 4 ofEE)

© ALY
AEH
="

10,000,000 ‘ “‘ 4,700,000

S0 R ZAR B M2 EfR ()

W EHAS 53
@ NAH A5t
I

=

7,000,000 =4 3520000

QIZCHEIN M2tERY
S+ HERY

LB

© HEQI 7 (43, 4 AP IHED]

e 8| 29 [E|E g | 2o

01X 1,620,000

2,720,000 6,320,000

® AEFT E 337]
712 =4 f

1420000 270,000 0| i 1620,000
SKOHZI(ZE) SKO{E|




UIL| 2| KISS=(84B)

| &3 | DOtY} L]

OIGHALY | BIRLICE

oxlmp2s
Sy

|t

OAL
TTo

W ORY 2} = 37 HES A2 FI D KIAPH

W PSSR A0, 7B 30t
WO

QIGFA17| HEELICE,

Hes

Bt

Sl =2} 0lof| o

=
=

t

A

g
<

e
S+ oo

EH

| OBHE 57| PIet A2 HAf

el

= bR

IT.
ey

ZE)

()20 el

B SUSTHUIIHLEHME

1010-2487-5377

1010-2150-2780

1,250,000

O, Ao} 3 S| 2

Aek= 10%

X F27t 2716E2L] MFS| ZHISHM| HFELICE

12,500,000

SLICk

kA

LS

A|k2 S LHESHK| OfL|3H L2 QIHEX|

2A|7| Bi2HH §7] AIZL2

)k
Ls

L] 251X

.
o

, e dEAIzRE 8ol

=eh) gL
AR (H|ZEAL

FX|
10

%
oot

SIS 2HQIGHA|7| HEZHLIEL.
SN
o=

0(
I

W 12,5000
fo| O[SHE &7

123y
0!

SES
R:'TX

NEE IS
ol
g2 Ak

WL 2 1 Q0
fol AL 2y B

mO[R} 0[0x) 3! X2

SHOISHAP?| HiRILI

W 84niBE

o]l
=]

SHEEL

Ol
=]

SHE

EYAE =0

t

At
O

Ei|

JAS 712 A

==

)

=

SR
CEA

)

TR
=k

S|

=43
(FExE)




| 4% | Dot} Lo

=M N|32|AE(84B) 2o} g}

—10H
Il =
3,700,000 4,300,000
7,600,000 8,900,000

7100,000 8,400,000

1) 1| Me(240) W 2} EHopy
@ 71 44 445 O34 @ FHEER
S AR M| s oK) 7 Ex

=

1620,000

OHe 2E THA 27 Al%|

* AR e K127}

W 4 HEet Ot

©HHoES

RE =R

10,000,000 ‘ IR | 4700000

W CHAE 53t
@ NAE Mt
M

7,000,000 . 3,520,000

S Ml
R At

(B

A7 A7
oE| 7= g4 | =%

01X 1,620,000

2,770,000 6,320,000

® AEIE =aeA
12 =4 ]

1420000 270,000 0| i 1620,000
SKOHZI(ZE) SKO{E|






